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1. How does ONINW separate between things that are mentioned in the NWND of DI
from things which are not mentioned? Isn't everything dependent on the nixn of DI2'?

2. When the N1na says DI2'N NNLVIDY, Rashi explains that if this D2' dies and leaves
behind another wife and children she is free to marry anyone. Why doesn't he simply
say that since the NIN includes these inferior NIN'2 for DI2' he fulfilled the Mitzva of
DI2', and this will include all of the items which Rashi lists, since they are natural
outcomes of DI2'? Assuming that the D' died and didn't leave behind another wife or
children, would this NN2' need DI2' as this Yavam's widow?

3. On the NpIoNN between 9XINW & 21 regarding what is he NI, Rashi on the words
229 NIp says with any of these inferior ways. Which would indicate that in ALL cases
other than a regular full NR'2 there’s a disagreement as to what he acquired. However
when we look at Yy DIPN2 N'NPIND DT "N, he says that only when the D2' wasn't
intent on acquiring her, would 9NINW argue. So for example if he did something XYW
N21TD or NNV with intent to acquire does ONINW hold that he acquired her
completely? How can we reconcile the 2 Rashis?



4. Does an |ND NWN eat NNINN because she is the [ND's wife, or because she is part of
his household?

5. The RNA initially says that |'NIW1N |N everyone agrees that she eats NNINN but if it
only |'DIN'RN [N since she didn't eat before, she doesn’t eat now, because the NN
doesn’t make the D2 better than the first husband. Since NN"INTN even an NDINN
eats NNINN, how can we understand IXINW saying that the D2' can't be better? He
doesn’t have to be better NN"INTD, because on that level she was allowed to eat even
with the first husband?

6. An NDINIW DN NWN s allowed to stay married, but if she becomes a widow she
can't marry a |N2. This is because the D1IN NX'2 makes her a NIT. Can we deduce from
this |'T that there is an 110'N which was committed even though it was D1IN2? Can a
lady become a NIt if there was no NI0'N at all, for example W'N NWN2 ypN2I 9917

If you have any comments or suggestions please email me at
Ygrunhaus@gmail.com
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